Are in being held in June?

T GTA-To A <540K 10K S60K- | $100K+ No Kids
<$60K | <$100K
A H | ) K L M

I
——

Base: All Respondents (unwtd) 2501 1295 674 621 143 204 132 637 18 377 660 832 603 1713 1156 1345 501 820 1180 ) 3% 1019 1013 2715 226
Base: All Respondents (wtd) 2501 1195 527 667 200 299 16 656 587 394 633 711 667 1586 1205 1296 684 861 957 356 692 824 624 2276 225
2501 1195 527 667 204 299 146 656 587 394 633 711 667 1586 1205 129 684 861 957 356 692 824 624 2276 225
Yes 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% | 100% 100% | 100% 100% | 100% 100% | 100% 100% | 100% 100% | 100% 100%
2501 1195 527 667 204 299 146 656 587 394 633 711 667 1586 1205 129 684 861 957 356 692 824 624 2276 225
sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% | 100% 100% | 100% 100% | 100% 100% | 100% 100% | 100% 100% | 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F/G,H/I1/K,L/MNJO,P/Q/R,S/T/UN,W/X
Minimum Base: 30 (**), Small Base: 100 (%)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F/G,H/I1/K,L/MNJO,P/Q/RS/T/UN,W/X
Minimum Base: 30 (**), Small Base: 100 (%)
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Using a 1-to-10scale, where

lZ

1means

you will not vote, yare y

vote in

being held in June?

fr i
<$60K <$100K
A 5 3 D 3 3 G H | K L ™ N ) P a R s
Base: All Respondents (unwtd) 2501 | 1205 | 67 621 143 20 132 637 a8 377 660 832 603 13 | use | 135 | so1 520 | 1180 7
Base: Al Respondents (wid) 501 | 195 | 527 667 208 299 146 656 587 39 633 1 667 | 186 | 1205 | 1296 | e84 61 957 356 92 824 e | 276 | 25
1923 | s 39 s21 159 238 11 96 02 289 500 599 501 8 | o 954 50 669 04 231 a8 661 a2 1735 | 14
op 3 Box (Net) e | 7% % | 7% e | 19% | 76% o | 7% 9% | 8% 7% | 71% | 7 | 7 | eew | 8% | s | esw | 0% | sow | sm | 76% | &%
- . H H 0 ) - 5T 51U
174 | e 362 81 31 206 100 62 366 264 a3 558 ass 105 | e s11 388 608 747 158 a2 613 soa | 1582 162
Top 2 Box (subnet) % | 7% o | 7% o | 6% e | 70% 6% | o7% o | 7% 6% | 0% | 6% | 7w | S | 7i% | 78% | se% | 1% | 7a% | sk | 0% | 7%
- . H 3 ) - ST 51U
1571 763 320 a3 125 188 8 08 327 239 390 97 389 013 | 761 810 330 539 702 182 382 E ase | 125 146
6% | 6% 6% | 6% 6% | 6% o | 6% s | o1% o | 10% s | oa% | em | 2% | asw | e | 7% | si% | ss% | ek | 7% | o | e
B - . H 3 ) - ST s1U
17 5 2 o 7 18 0 5 3 i3 a 61 53 % 7 102 58 © s 7 a 65 a 158 16
9 7% i3 % % % % % % 7% % 7% % 10% % % % % 8% 5% 5% % 8% % 7% %
- G ™ " ~
175 7 3% 37 % 2 0 3 3% % = a 3 115 97 5 o1 61 57 ) 61 0 3 157 5
s 7% % 7% % 1% 1% % % % i3 10% % 7% % % % % % % 9% % % % 7% 10%
- ace G X <
105 56 % 30 ) 5 9 15 % 1 ) ) w 57 3 3 ) ) » 3 % 3 3] 100 5
7 % % % % 10% [ % i % % % % 7% % % % % 5% % 8% % % % % %
5 5 - G ™ N <
o 30 10 2 5 1 1 15 ) 10 ) 1 10 o 3 31 ) ) 5 7 27 21 1 & 3
5 % [ % % % % 1% i % 3 % i % [ % i % 2% % % % % % % 1%
- G ® < v
15 5 3 37 7 2 1 3 w 30 31 27 3 100 7 7 & 3 ) 30 s o ) 135 1
s % I3 % % % % 7% % 7% % % % % % % % % 5% % 8% 7% % % % %
A - - K ® . v v
3 s 7 2 - 5 - 1 B 10 ) 2 2 2 2 s 14 15 2 6 B s 3 2 10
n 1% % 1% B - i - i3 i3 m 1% B B i3 % % % 2% - 2% % 1% % 1% %
- - Ac K 3 R R - w
215 % 3 £l 3 2 1 7 8 3 ® 3 53 124 102 112 & 68 & 52 & 55 u 210 5
Bottom 3 Box (Net) 9% % 7% % % 3 % 1% 1% 9% % % 10% % % % 12% 8% 7% 1% | 1% 7% % 9% %
- . I3 3 R v w v X
37 15 6 5 1 2 - 1 18 4 5 5 0 2 ) 7 ) 1 [ 10 2 10 5 3 2
3 1% % 1% % - % - 3 % i 1% % % % % % % 1% - 3% % 1% % 2% 1%
0 B ® B
178 7% 3 a 2 ) 1 55 & 31 w i3 52 103 & % & 56 58 2 7 s 1 176 3
Bottom 2 Box (Subnet) 7% 3 % 3 % 3 % % 1% % 7% % % % 7% 3 % % % 2% | 1% 5% % % 1%
- . K 3 K v w v X
% 2 4 s - 2 2 5 1 1 s 6 ) 1 0 1 5 5 5 5 2 6 2 % -
2 1% % 1% % - % 1% % i3 B 1% % 1% % 1% 1% % 1% % 1% % 1% - 1% -
152 3 3 3% 2 7 2 % 52 30 3% 0 a2 8 ) ) s 50 5 £ £ 3 16 150 3
- Compltely certain nt to vote (1) % % % % % % % % % 8% % % % % % % 7% % % 10% % 5% % 7% 1%
- . K 3 K v w v X
10 5 1 4 - - 1 3 2 5 - 3 3 5 5 5 3 2 5 - 6 2 1 10 -
Dor't know - B - % - - 1% % - % - B - - - - - - - B % - - - -
0 . ) B
mo1 | uss | s 667 200 259 16 656 587 354 ) 711 667 158 | 1205 | 1296 | e84 861 957 356 92 824 61 | 276 | 225
Sigma l00% | 100% | 100% | 100% | 100% | 1o0% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 1o0% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100%
Smmy oo e e e e e e e e e e T
e 84 85 84 86 86 85 84 83 79 83 85 83 85 84 85 78 85 89 77 87 9.1 84 88
- - H 3 ) - T st
[ 265 | 258 26 257 24 250 | 275 | 28 | 306 | 28 | 254 265 | 261 | 266 | 264 | 291 | 259 24 305 | 2% | 245 157 27 205
I 00s | oo7 | oal 01 017 | o015 | o023 | om | o1 | om o1 008 01 007 | o008 | o007 | oi1 | oos | 008 | o6 | o011 | o009 | o008 | 005 | o0ia
Statistics:

Overlap formulae used
- Column Proportions:

‘Columns Tested (5%): A/8/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R S/T/UN,W/X
Minimurn Base: 30 {**), Small Base: 100 (*)

- Column Means:

Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R S/T/UN, W/X
Minimurn Base: 30 {**), Small Base: 100 (*)

Table of contents



If a provincial election were held tomorrow, which you be v to supp

Total |GTA-Total] GTA-416 | GTA-905 | Central | East | North |Southwest| <Si0Kk | 40 60K~ | $100K+ No Female | 1834 | 35
<s60K | <5100
A 5 3 o 3 3 G H | ) K L ™ N ) P a R
Base: Eliible Voters (unwtd) 150 | 63 329 305 7 150 59 328 217 19 329 207 297 864 577 73 254 3% 500
Base: lgible Voters (wtd) 156 | so1 253 338 120 150 & 325 303 194 320 302 315 813 618 638 300 a8 88 1% 345 01 37 | maw | us
36 192 1 112 o ) % 112 7 7 115 140 % 284 259 176 % 122 216 B 125 125 % 06 30
The Ontario Progressive Conservative Party 35% 3% 32% 3% 56% 26% 35% 3% 25% 7% 36% a% 31% 3% % 2% 29% 9% aa% 4% 36% 2% 29% 36% 26%
- ~ G G M ° ~ eq - ~
238 132 o 53 1 ) 1 a7 52 i3 58 ” & 160 % 115 5 5 102 7 5 7 % 215 18
he Ontario Liberal Party % | 2% W% | 20% e | 2% 15% 1% 7% 15% W% | 2% o | 2% | 1% | o | 1% 1% | % 9% 15% 8% | 3% 1% | 1%
o a6 - ~ g G B - - T ~
272 119 51 8 1 3 21 52 % ) & 2 58 189 123 14 104 % 7 3 7 E) & 23 i)
he Ontario New Democratic Party 2% | 0% 0% | 0% 9% 26% s | 2% 3% 7% 21% 18% 1% | 2% | oo | o | a% | o | 1% 1% | 2% 2% | am a% | %
- ~ - 3 = - ~
5 5 1 1 10 4 3 1 s 1 2 15 15 3 % 31 s % 5 4 10 % [ e s
(Green party of Ontario % % % % % [ % % % % 7% % % % % % % % 5% % % 7% % % %
37 1 6 s 3 4 1 1 7 1 ) 1 12 % 17 ) 7 16 5 2 1 16 7 30 7
Some other party % i % [ % [ % % % % 1% 7 % % % % % % % 1% % % % % %
54 5 1 15 2 4 5 1 18 1 15 7 21 i ) u ) 16 9 3 17 15 s E 1
Would not vote/none/would spil ballot % % % % % [ 7% % % % % i 7% % % % % % % 7% % % % 5% 1%
120 7 % a7 n 5 2 2 w0 i3 3 % s 5 56 85 37 & o 2 50 s 2 119 2
Don'tknow/not sure: 1% 12% 9% 1% 10% 15% % 10% 3% 13% 10% % 1% 10% % % | 1% 15% % 1% | 1w 1% 7% 0% | 1o%
- ~ G G - " - v ~
) 2 4 s - 4 2 1 2 2 s 3 5 4 1 s ) 7 9 4 2 10 [ 18 1
Refusal % i % [ - [ % B 1% 1% % 1% % % % % % 2% % % 1% % 1% % 1%
1256 | se1 253 338 120 150 B 325 303 154 32 342 315 813 618 38 30 s a8 1% 345 01 37| uaw | 15
Sigma l00% | 100% | 100% | 100% | 100% | 1o0% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 1o0% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/N,W/X
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/N,W/X
Minimum Base: 30 (**), Small Base: 100 (*)
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‘Well, which party would you say you are leaning towards?

_ o
A B c

Region.

3 F G

Household Income

<S40K | 401 S60K- | $100K+ No
<$60K | <$100K
H | ) K L

Age

D a R
Base: Undecided Voters unwtd) 133 i3 2 3 7 20 4 27 % 27 u 31 36 8 55 31 s 54
Base: Undecided Voters (wtd) 160 ) 2 56 12 27 4 3 2 27 a 29 a9 8 &7 s a ) a9 ) 52 5 27 137 5
3 1 5 3 E 10 - 0 2 2 ) 6 7 15 1 18 7 3 B 6 2 1 5 3 3
The Ontario Progressive Conservative Party 20% 2% 18% 2% - 7% - 12% 28% 9% 25% 2% 15% 7% 2% 19% 17% 18% 26% 19% 2% 20% 17% 21% 1%
B 7 5 2 - 1 - 4 1 3 ) 2 3 10 2 1 ) s 1 - ) 5 ) 1 1
he Ontario Liberal Party % % 8% % - % - 12% 1% 12% 10% % % 1% % 12% % 1% % - 7% 9% 16% 8% %
6 ) 3 1 - 1 - 1 - 1 1 3 3 4 5 2 3 2 2 - - 6 1 6 -
he Ontario New Democratic Party % 5% 1% 1% - 5% % i - [ % 10% % % 7% 2% 7% 3% % - - 1% % 5% -
10 - - - s - 2 - 2 - s - s - s 2 - s 2 - 10 - - 10 -
(Green party of Ontario % - - - 6% - % - % - 15% - 16% - 12% i - 1% % - 18% - - 7% -
4 - - - - 1 - 3 1 3 - - 1 3 3 1 1 - 3 3 - 1 - 4 -
Some otherparty % - - - - [ - 10% % 12% - - % % % % % - 7% 12% - 1% - 3 -
5 1 - 1 - 2 - 2 ) 1 - - 2 3 1 4 ) 1 - - 2 3 - 3 2
Would not vote % 1% - i - % - % 10% % - - % [ % % 10% 2% - - % % - % %
7 a n 32 4 7 2 ) 3 15 1 1 2 50 u 5 2 ) 2 16 5 21 5 61 1
Don'tknow/not sure: | sw | am | s s | 2% | asw | sow s | se% 8% | 3% | asw | sm | 36% | st% | saw | amk | as% | ssw | asw | 4o% | so% | asw | e
B 5 2 5 - 4 - - - 1 6 2 ) 4 ) 3 1 6 6 4 - 7 2 1 1
Refusal % 10% % 12% - 16% - - - [ 16% % 7% % 15% % % 9% 12% 1% - 13% % 8% %
160 s % 56 . 27 ) 3 2 27 a 2 w B & % a 7 s 3 52 5 27 137 3}
Sigma l00% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 1oo% | 100% | 100% | 100% | 100% | 100% | 1o0% | 100% | 100% | 100%
Statistics:

Overlap formulae used
- Column Proportions:

Columns Tested (5%): A/8/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R S/T/UN,W/X
Minimurn Base: 30 {**), Small Base: 100 (*)

- Column Mear

Columns Tested (5%): A/8/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R S/T/UN, W/X
Minimurn Base: 30 {**), Small Base: 100 (*)
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If a provincial election were held tomorrow, which ' you be y to support? / Wel, which party ¥

Total |GTA-Total] GTA-416 | GTA-905 | Central | East | North |Southwest| <Si0Kk | 40 60K~ | $100K+ No Female | 1834 | 35
<s60K | <5100
A 5 3 o 3 3 G H | ) K L ™ N ) P a R
Base: All Answering (umwtc) 150 | 63 329 305 7 150 59 328 217 19 329 207 297 864 577 73 254 3% 500
Base: All Answering (wtd) 156 | so1 253 338 120 150 & 325 303 194 320 302 315 813 618 638 300 a8 88 1% 345 01 37 | maw | us
468 211 B3 125 o 50 % 116 8 7 126 146 105 2% 274 15 104 135 229 E 137 139 97 35 32
The Ontario Progressive Conservative Party 37% 36% 3a% 3% 56% 3% 35% 36% 29% 38% 39% % 3% % 2% 30% 31% 2% am% 9% 0% 3% 31% 8% 28%
- - G G M ° - eq - v ~
250 139 7 8 1 3 1 51 52 ) 02 81 & 170 9 156 56 o1 104 7 56 7 % 21 [
he Ontario Liberal Party W | 2% w6 | 0% e | 2% 15% 16% 7% 7% % | 2% a% | 2% | 1sw | aax | e% | 2% | 21% 9% 16% 1% | 3% % |
o i - - g G N ~ - T G
278 123 54 3 1 o 21 5 % 3 o 3 ) 153 128 151 107 % 3 3 7 % ) 250 i)
he Ontario New Democratic Party 2% | % we | 2% 9% 27% 3| 2% 3% 18% 21% 19% % | 2a% | % | 2% | s | o | 1o% 1% | 2% ux | 2w 2% | %
- ~ G 3 = - ~
o 5 1 1 18 4 5 1 10 1 ) 15 3 3 36 ) s 3 5 4 ) % [ ) s
(Green party of Ontario % % % % 15% [ 7% % % % % % 7% % % % % 8% 5% % % 7% % 5% %
a 1 6 s 3 5 1 1 s 1 ) 1 12 i ) 2 s 16 18 6 1 7 7 ) 7
Some other party % i % [ % [ % % % i3 1% 7 % % % % % % % % % % % % %
- ~ G n G i ~ - ~
) % 1 1 2 5 5 ) 2 12 15 7 B3] 2 32 % 3 7 9 3 [ 18 s 57 3
Would not vote/none/would spil ballot % % % % % % 7% % 7% % % i 7% % % % 10% % % 7% % 5% % 5% %
- ~ G G Y = - ~
7 a n 32 4 7 2 ) 3 15 1 1 2 50 u 5 2 ) 2 16 5 21 5 61 1
Don'tknow/not sure: % 3 % % % % % % % % % % 7% % % % 7% 8% % 8% 7% 5% 5% 5% 1%
5 - ~ G G N - - w
B 2 5 - 4 - - - 1 6 2 ) 4 ) 3 1 6 6 4 - 7 2 1 1
Refusal 1% 1% 1% i - [ - - - B % 1% 1% - % 1% - 1% 1% % - % 1% 1% 1%
1256 | se1 253 338 120 150 B 325 303 154 32 342 315 813 618 38 30 s a8 1% 345 01 37| uaw | 15
Sigma l00% | 100% | 100% | 100% | 100% | 1o0% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 1o0% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/N,W/X
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/N,W/X
Minimum Base: 30 (**), Small Base: 100 (*)

Table of contents




If a provincial election were held tomorrow, which ' you be v to supp

Total |GTA-Total] GTA-416 | GTA-905 | Central | East | North |Southwest| <Si0Kk | 40 60K~ | $100K+ No Female | 1834 | 3550 PostSec | UnivGrad | Urba Rural
<s60K | <5100
A [ c ) 3 3 G H | ) K L ™ N ) P a R s T u v w X
Base: Eliible Voters (unwtd) 151 | 66t 345 316 ) 144 7B 309 231 181 31 425 306 849 579 12 247 a8 580 3 197 523 asa | nama | 107
Base: lgible Voters (wtd) 1245 | 604 278 330 ) 139 ” 331 284 201 308 369 352 m 587 658 344 a3 69 165 346 a3 307 | 136 | 109
37 184 o 119 a a2 ) £ 7 52 o1 143 12 25 235 144 7 130 178 E % 12 % 354 2
The Ontario Progressive Conservative Party 30% 1% 2% 36% 8% 8% 26% 8% 27% 26% 30% 39% 35% 29% 0% 2% 2% 30% 38% 3% 28% 1% 31% 1% 2%
5 a8 - . - . H o 3 B - -
29 142 s &7 s ) B 5 02 % s @) 57 162 102 147 58 7 114 27 & 7 ) 21 7
he Ontario Liberal Party 0% | 2% | 2% 0% | 2% 7% 16% 2% 13% 2% 19% 16% w% | 1 2% | am 8% | 2% 6% | 1% 8% | 2% 0% | 1%
o o - ~ G - | - " ~
210 5 ) 52 ) 3 1 3 52 o & 3 ) 156 5 158 3 5 7 % 5 B &7 216 2
he Ontario New Democratic Party 9% 16% 6% 16% we | 2% 1% | 2% w6 | 20% W | 20% 7% 0% | 1% ux | 5% 1% | 1% % | 0% | 2% 1% | 2%
- - g n ~ N ® - ~
56 % 1 1 4 5 2 18 15 5 1 1 17 3 31 2 21 15 ) - 2 2 B 52 )
(Green party of Ontario % % % % % [ % % % % % % % % % % % % % - % 5% % 5% %
3 1 7 ) 1 7 2 3 ) 4 15 5 7 2 ) 1 9 7 s 6 10 10 6 2 0
Some other party % i % 1% 1% % % % 1% i % 1% % % % i % % % % % % % % 1%
3 15 5 10 - 2 ) 10 6 5 s 5 s 1 12 1 7 1 6 - 7 18 6 30 2
Would not vote/none/would spil ballot % [ % [ - 1% % 3 % % % i % 3 [ 3 % % 1% - % % % % %
256 128 o & 10 27 % & £ 61 3 56 ) 153 105 151 % %2 7 50 3 51 ) 21 5
Don'tknow/not sure: we | % 2% 19% 12% 18% 3| 20% we | % 15% 15% 3% 0% | 8% 3% | o % | 1w | so% | 2% 1% | 1% 0% | o
- - G ) o ® - v v ~
1205 | 604 274 330 8 119 7 31 28 201 308 369 352 773 587 658 344 33 69 165 346 23 307 | 1 | 109
Sigma 100% | 100% | 100% | 100% | oo | 100% | 0% | 100% | 100% | 100% | 100% | o0% | 100% | 1o% | 100% | 1oo% | 100% | 100% | 100% | 100% | 100% | 1o0% | 1oo% | 100% | 100%
Statistics:

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/N,W/X
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/N,W/X
Minimum Base: 30 (**), Small Base: 100 (*)
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‘Well, which party would you say you are leaning towards?

Total | GTA- Total| GTA-416 | GTA-905 | Central | East North | Southws <S40K | 401 S60K- | $100K+ No
<$60K | <$100K
A B c ) 3 F G H | ) K L

Region.

Household Income

der

Age

ﬂ .
N o P

M Q
Base: Undecided Voters unwtd) 206 105 59 % 10 2 17 52 0 3 37 65 &2 129 5 122 50 7
Base: Undecided Voters (wtd) 256 128 65 & 10 27 u & & 61 5 56 ) 153 105 151 %2 2
3 2 4 s 2 6 3 5 3 0 2 5 B 1 2 10 1 s
The Ontario Progressive Conservative Party 13% 10% 7% 13% 23% 2% 1% 13% % % 26% 16% 16% 12% 2% % 15% 9%
~ g S - - - - - = - ~ o > ~ - ~
% 7 1 5 - 3 1 4 3 5 7 5 B 5 1 1 15 5
he Ontario Liberal Party 0% 13% 7% 10% - 3% % % % % 16% 15% 17% % 1a% 8% 16% %
% 1 6 ) - 1 1 1 ) 3 3 6 ) 7 18 10 1 1
he Ontario New Democratic Party 1% % 0% 7% - [ % 2% % 2% % 10% 12% | am 7% 15% 1%
1 7 2 ) 2 1 - 5 7 2 3 4 5 5 7 s 5 6
(Green party of Ontario % % % 3 16% [ - 10% 10% [ % % 7% % 7% % % %
T - g . . . T . + . . 5 5 B T . .
Some other party - - 1% - - - - % - % - - 1% - - - - -
4 - - - - - - 4 2 - - - - 4 - 4 2 2
Would not vote % - - - - - - % % - - - - i - 2% % 2%
15 ) w0 o 6 15 1 % 50 3 21 % 3 97 B 106 B 58
Don'tknow/not sure: s | 6% 6% | 6% 6% | 5% s | a1% 7% | % | aew | six | 4% | % | a1 | 7% | am% | 3%
256 128 o & 10 27 % & £ 61 3 56 ) 153 105 151 %2 %2 7 50 3 51 ) 231 5
Sigma l00% | 100% | 100% | 100% | oo | 1o0% | 0% | 100% | 100% | 100% | 100% | o0% | 100% | 1o% | 100% | 1oo% | 100% | 100% | 100% | 100% | 100% | 100% | 1oo% | 100% | 100%
Statistics:

Overlap formulae used
- Column Proportions:

Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R S/T/UN,W/X
Minimurm Base: 30 {**), Small Base: 100 (*)

- Column Means:

Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R S/T/UN, W/X
Minimurn Base: 30 {**), Small Base: 100 (*)
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If a provincial election were held tomorrow, which you be y to support? / Wel, which party ¥

Total |GTA-Total] GTA-416 | GTA-905 | Central | East | North |Southwest| <Si0Kk | 40 60K~ | $100K+ No Female | 1834 | 3550 PostSec | UnivGrad | Urba Rural
<s60K | <5100
A [ c ) 3 3 G H | ) K L ™ N ) P a R s T u v w X
Base: All Answering (umwtc) 151 | 66t 345 316 ) 144 7B 309 231 181 31 425 306 849 579 12 247 a8 580 3 197 523 asa | nama | 107
Base: All Answering (wtd) 1245 | 604 278 330 ) 139 ” 331 284 201 308 369 352 m 587 658 344 a3 69 165 346 a3 307 | 136 | 109
i 157 0 127 ) s 2 101 s 56 103 152 137 204 257 154 8 18 189 E 112 115 % 383 %
The Ontario Progressive Conservative Party 3% 3% 25% 38% 1% 2% 29% 30% 28% 8% 3a% a% 39% 2% 2% 23% 25% 2% 0% 3% 32% 3% 32% 3% 26%
5 ® - - G - i ° eq = ~
275 159 B3 7 s 3 1 57 53 2 5 ” ) 171 116 159 7 5 118 27 3 5 3 257 7
he Ontario Liberal Party w6 | 2% s | 2% 0% | 2% 15% 7% 3% 16% | a% 20% % | 0% ux | % 1% | 5% 6% | 2% 0% | 28w 3% | 1%
o a6 - - G ~ | - " ~
269 106 50 56 ) 3 0 % 56 5 & 51 ) 172 100 169 % % 7 E & % 7 238 31
he Ontario New Democratic Party 2% 18% 18% 7% we | 2% % | 2% W | 2% ww | 2% 20% w% | 1 % | 0% 2% | 1% a% | 0% 2% | o a% | oo%
- - G asC ~ N ® - ~
7 3 1 1 6 5 2 i 2 10 1 18 2 s 3 ) % 21 5 - 5 s 18 2 5
(Green party of Ontario % % % % 7% % % i3 % % % % % % 7% % 7% 5% 5% - 7% 7% % % %
3 2 s ) 1 7 2 1 ) 4 15 5 s 2 21 1 9 7 9 6 10 1 7 3 0
Some other party % i % 1% 1% % % % 1% i % 1% % % % i % % % % % % % % 1%
35 15 5 10 - 2 ) 3 s 5 s 5 s 3 12 3 9 2 6 - 1 18 6 ) 2
Would not vote/none/would spil ballot % [ % [ - 1% % % % % % i % 3 [ % % 5% 1% - % % % % %
15 ) w0 o 6 15 1 % 50 3 21 % 3 97 B 106 B 58 a a ar s [ 135 1
Don'tknow/not sure: 12% 13% 15% 12% 7% 10% 25% % 18% 18% 7% % 11% 12% 7% 6% | 1% 1% | 0% % | 1w 1% % 2 | 1%
- . AcEG* I e N - v v -
1205 | 604 274 330 8 119 7 31 284 201 308 369 352 773 587 658 344 33 69 165 346 23 307 | 1 | 109
Sigma 100% | 100% | 100% | 100% | oo | 100% | 0% | 100% | 100% | 100% | 100% | o0% | 100% | 1o% | 100% | 1oo% | 100% | 100% | 100% | 100% | 100% | 1o0% | 1oo% | 100% | 100%
Statistics:

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/N,W/X
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/N,W/X
Minimum Base: 30 (**), Small Base: 100 (*)
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If a provincial election were held tomorrow, which

_ o
A B c

v

be

Region.

) 3 F G

Household Income
<S40K | 401 S60K- | $100K+
<$60K | <$100K
H | ) K

Age

===
il el N R
N o P

L ™ Q
Base: All Respondents (unwtd) 2501 | 1205 | 67 621 143 20 132 637 a8 377 660 832 03 13 | use | 135 | so1 820
Base: Al Respondents (wid) 501 | 195 | 527 667 208 299 146 656 587 39 633 1 667 | 186 | 1205 | 1296 | e84 61 957 356 92 824 e | 276 | 25
814 377 147 230 108 81 w 204 153 124 207 282 22 509 asa 320 168 52 39 142 23 261 186 760 el
The Ontario Progressive Conservative Party 3% 2% 28% 3% 53% 7% 30% 1% 26% 1% 3% 0% 3% 2% % 5% 25% 9% a1% 0% 32% 2% 30% 3% 2%
5 5 - . H ) ) - X
a8 74 141 134 3 3 3 100 1 56 13 149 115 32 195 21 11 160 216 a 118 128 175 51 3%
he Ontario Liberal Party 1% | 2% | 2% we | 2% 16% 15% 15% 1% we | a% w6 | 0% | 1% | 2% | 1o% 1% | o 2 | m 8% | o8% 0% | 1%
G ACFG - s - i i N B - s1U
s12 214 % 120 31 7 32 162 152 7 31 137 118 315 205 307 1% 176 146 3 13 176 136 50 5
he Ontario New Democratic Party 20% 18% 18% 18% 1% | 2% we | 2% 26% 19% 21% 19% w6 | 2% | 1 | 2n | aew | o | 1% 8% | 0% a% | am 0% | 2%
- - ABC N ar R -
115 5 s % 1 5 5 3 3 1 3 i3 32 @ 5 56 ) s a 4 32 3 32 103 0
(Green party of Ontario % % % % 7% [ % % % % % % % % % % % 5% % 1% 5% % 5% 5% %
7 5 B 2 4 10 ) i3 1 15 1 1 1 50 37 3 16 ) 2 9 21 27 1 52 [
Some other party % [ % i % 3 % % % % % i % [ % 3% % % % % % % % % %
- G A < W
B3 a 1 5 2 5 1 2 % 1 3 3 % o B s 36 3 5 3 5 ) 5 5 3
Would not vote/none/would spil ballot % [ % % 1% i 7% % % % % i % [ % [ % % % % % % % % 1%
= G « ® R -
3% 159 58 110 2 [ % 100 108 86 s 52 125 237 161 235 130 155 112 7 135 124 & 319 a7
Don'tknow/not sure: 16% 7% 7% 7% 1% 16% 18% 15% w6 | 2% 12% 12% 15% 1% | 1 % | 1% 8% | 1% a% | 0% 1% | 0% 1% | %
- - 3 I N ® R v v v
) 2 4 s - 4 2 1 2 2 s 3 5 4 1 s 4 7 9 4 2 10 [ 18 1
Refusal 1% % 1% 1% - % 1% B - 1% 1% - 1% - 1% % 1% 1% 1% 1% - 1% 1% 1% 1%
01 | uss | s 667 200 259 146 656 587 354 633 2 667 1585 | 1205 | 1296 | eea 861 957 356 692 824 o | 276 | 225
Sigma l00% | 100% | 100% | 100% | 100% | 1o0% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 1o0% | 100% | 100% | 100%
Statistics:

Overlap formulae used
- Column Proportions:

Columns Tested (5%): A/8/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R S/T/UN,W/X
Minimurn Base: 30 {**), Small Base: 100 (*)

- Column Mear

Columns Tested (5%): A/8/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R S/T/UN, W/X
Minimurn Base: 30 {**), Small Base: 100 (*)
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‘Well, which party would you say you are leaning towards?

Total |GTA-Total] GTA-416 | GTA-905 | Central | East | North |Southwest| <Si0Kk | 40 60K~ | $100K+ No Female | 1834 | 35
<s60K | <5100
A 5 3 o 3 3 G H | ) K L ™ N ) P a R
Base: All Answering (umwtc) 339 180 o1 89 17 2 21 7 & 70 7 % % 212 139 200 81 121 137
Base: All Answering (wtd) 416 a1 2 119 2 ) s 101 110 ) &7 8 130 202 172 208 133 162 120 7 137 133 3 368 s
o 31 9 21 2 1 3 3 1 6 3 1 ) 3 36 % 21 ) 5 6 % ) ) E) 7
The Ontario Progressive Conservative Party 16% 1% 10% 18% 1% 30% % 13% 13% % 26% 18% 16% 1% 2% 12% 16% 13% 19% 7% 19% 18% 15% 16% 4%
3 2 1 s - 5 1 5 ) 5 1 1 16 1 16 5 18 1 6 - 17 1 10 3 1
he Ontario Liberal Party % 1% 7% 7% - % % % % 10% 13% 12% 12% % % 9% 1a% 9% % - 1% 9% 15% 10% %
35 15 10 5 - 2 1 7 ) 1 ) 5 12 ) 3 1 16 15 ) 6 10 1 5 % 7
he Ontario New Democratic Party % 7% 1% % - % % 16% % 16% % 10% 10% % 3% % 12% 9% % 8% 7% 10% % 7% 15%
~ . ~ = - - ~ G ~ G ~ - o> - ~ ~ - ~ ~ =
s 7 2 ) 9 1 2 5 9 2 1 4 B 5 15 10 5 3 7 - B s 5 2 1
(Green party of Ontario % [ % % % i % % % i 12% % 10% % % % % 8% % - % % 7% 7% %
5 - - - - 1 - 4 1 4 - - 1 3 ) 1 1 - ) 3 1 1 5 -
Some other party 1% - 1% - - % - % 1% % - - 1% 1% % % % - % % - 1% 1% 1% -
9 1 - 1 - 2 - 5 6 1 - - 2 5 1 s 6 3 - - 5 3 - 6 2
Would not vote % 1% - 1% - % - % % % - - % [ 1% [ % 2% - - % % - % %
26 124 52 7 10 5 21 a7 i 51 3 a o1 146 &7 159 & o1 o ) 53 B3 3 157 i)
Don'tknow/not sure: s | so% s | en | aow | am | ar 6% | 5% 37 | 2% | am | e% | 39% | % | asw | se% | 8% | 7ew | ask | 4% | s | s | eow
B 5 2 5 - 4 - - - 1 6 2 ) 4 ) 3 1 6 6 4 - 7 2 1 1
Refusal % % % % - % - - - % 7% [ % % % 1% 1% % % 5% - 5% % % %
16 211 %2 119 2 e ® 101 110 8 8 85 130 212 72 214 13 162 120 B 137 133 53 368 s
Sigma l00% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100%

Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/N,W/X
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/N,W/X
Minimum Base: 30 (**), Small Base: 100 (*)
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If a provincial election were held tomorrow, which

_ o
A B c

be

¥

Region.

) 3 F G

/ Well, which p:

Household Income
<S40K | 401 S60K- | $100K+
<$60K | <$100K
H | ) K

Age

===
il el N R
N o P

L ™ Q
Base: All Respondents (unwtd) 2501 | 1205 | 67 621 143 20 132 637 a8 377 660 832 03 13 | use | 135 | so1 820
Base: Al Respondents (wid) 501 | 195 | 527 667 208 299 146 656 587 39 633 1 667 | 186 | 1205 | 1296 | e84 61 957 356 92 824 e | 276 | 25
879 w07 156 52 11 % 45 217 168 130 29 258 2 543 531 318 189 273 a7 148 29 284 1% 818 61
The Ontario Progressive Conservative Party 35% 3% 30% 38% sa% 3% 32% 3% 29% 3% 36% % 36% 3% 2% % 28% 2% aa% % 36% 3% 31% 36% 7%
5 a8 - . H ) ) -
525 259 157 142 3 7 s 108 118 3 10 160 136 3a1 21 314 129 174 2 a 136 159 185 488 37
he Ontario Liberal Party we | 2% s | % e | 2% 7% 16% 20% 16% 3w | % o | o | am | 2w | 1% | ao% | 2% 2% | 0% 1% | 30% % | 1%
ce ACFG - s - N - s
547 229 100 125 31 i3 3 178 155 88 135 115 130 366 28 320 206 151 150 7 146 1% 141 87 )
he Ontario New Democratic Party 2% 19% 20% 19% 1% | 2% W | % W | % e | 20% o | 2w | 1w | 2w | sw | o | 1o % | am 3% | o a% | o
- - ABC N ar R -
120 5 27 32 % 5 7 a1 32 2 w ) s 7 7 6 3 56 50 4 s El 37 127 B
(Green party of Ontario % % % % 12% [ % % % % 7% % 7% % % % % % 5% 1% % 7% % % %
7 5 B 2 4 1 ) ) 0 1 1 1 ) 5 a 3 17 ) 27 1 21 s 1 57 [
Some other party % [ % i % % % % % % % i % [ % 3% % % % % % % % % %
- G a ~ W
55 a2 1 % 2 5 1 £ ) ) 3 3 ) 55 w 51 2 37 5 3 30 3 5 E) 5
Would not vote % [ % % 1% [ 7% % % % % i % [ % % % % % % % % % % %
- - K K ® R - v
26 124 52 7 10 5 21 a7 ] 51 3 a o1 146 &7 159 & o1 o ) 53 B3 3 157 i)
Don'tknow/not sure: 9% 10% 10% 11% % % 1% % 12% 13% % % % 9% % 2% | 10w 1% 7% 7% | 10w 8% 5% 9% 1%
- G I I N o v v
B 5 2 5 - 4 - - - 1 6 2 ) 4 ) 3 1 6 6 4 - 7 2 1 1
Refusal 1% 1% - % - % - - - B 1% - 1% - 1% - - 1% 1% 1% - 1% - 1% 1%
= s G <
01 | uss | s 667 200 259 146 656 587 354 633 2 667 1585 | 1205 | 1296 | eea 861 957 356 692 824 o | 276 | 225
Sigma l00% | 100% | 100% | 100% | 100% | 1o0% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 1o0% | 100% | 100% | 100%
Statistics:

Overlap formulae used
- Column Proportions:

‘Columns Tested (5%): A/8/C/D/E/F/G,H/\/J/K,L/MN/O,P/Q/R S/T/U/N, W/X

Minimurn Base: 30 {**), Small Base: 100 (*)
- Column Mear

‘Columns Tested (5%): A/8/C/D/E/F/G,H/\/J/K,L/MN/O,P/Q/R.S/T/U/N, W/X

Minimurn Base: 30 {**), Small Base: 100 (*)
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If a provincial election were held tomorrow, which .

_ o
A B c

be

¥

Region.

) 3 F G

/ Well, which p:

Household Income

<S40K | 401 S60K- | $100K+ No
<$60K | <$100K
H | ) K L

der

Age

ﬂ .
N o P

™ a R
Base: Decided Voters unwtd) s | eor 546 132 263 110 570 386 321 609 764 532 | 153 | 104 | 1179 | a4 76 | 1076
Base: Decided Voters (wtd) 267 | 1020 | as7 563 192 264 115 576 84 R 571 652 573 1381 | 1084 | 108 | 575 727 866 278 5% 715 573 | o7 | e
879 w07 156 52 11 % 45 217 168 130 29 258 2 543 531 318 189 273 a7 148 29 284 1% 818 61
The Ontario Progressive Conservative Party a% 0% 3a% 5% s8% 7% 0% 38% 35% 0% 0% 4% % 39% 9% 2% 3% 38% 8% 53% a2% 0% 3% a% 32%
5 A8 - . H ) ) v v v
525 259 157 142 3 7 s 108 118 3 10 160 136 3a1 21 314 129 174 2 a 13 159 185 488 37
he Ontario Liberal Party we | 2% | 2% e | 2% 21% 19% we | 20% m% | 2% | 2% | 1w | o | 2% | o | 2% 6% | 2% 2% | 3 % | 1%
ce ACFG s - 3 - N - s
547 229 100 125 31 i3 3 178 155 88 135 115 130 366 28 320 206 151 150 7 146 1% 141 87 )
he Ontario New Democratic Party 5% | % w% | 2% 6% | 2% % | % s | % we | 2% % | 2% | % | o | aew | % | 1% % | 2% % | ow % | 3
- - AsC 3 N ar R -
120 5 27 32 % 5 7 a1 32 2 w ) s 7 7 6 3 56 50 4 s El 37 127 B
(Green party of Ontario % % % % 12% % % i3 7% i3 % % % % 7% % % 8% % 1% % 8% % % %
7 5 B 2 4 1 ) ) 0 1 1 1 ) 5 a 3 17 ) 27 1 21 s 1 57 [
Some other party % [ % i % % % % % % % i % % % [ % 5% % % % % % % 10%
- . Ac 3 - w
2067 | 1020 | a5 563 192 264 115 576 a8 32 571 652 573 11 | os4 | 108 | o7 727 866 278 5% 715 573 197 | 189
sigma l00% | 100% | 100% | 100% | lo0% | 100% | 0% | 100% | 100% | 100% | 100% | o0% | 100% | oo% | 100% | 1oo% | 100% | 100% | 100% | 100% | 100% | 100% | 1o0% | 100% | 100%

Statistcs:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/8/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/V,W/X
Minimum Base: 30 (*), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/8/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/V,W/X
Minimum Base: 30 (*), Small Base: 100 (*)
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You that this is the party

_ o
A B c

v

¥

ippor

Election Day?

Region.

) 3 F G

Household Income

<S40K | 401 S60K- | $100K+ No
<$60K | <$100K
H | ) K L

der

ﬂ .
N o P

Age

v a R
Base: Decided Voters (unwid) 2151 123 587 536 120 255 107 546 32 300 589 748 517 1474 011 1140 423 69 1034
Base: Decided Voters (wtd) 2105 999 43 556 186 257 14 549 a5 302 553 642 560 1331 1048 1057 562 703 841 266 582 695 557 1929 176
1926 923 3% 527 177 232 106 89 229 276 512 594 509 1228 956 971 99 635 792 252 520 632 518 1771 155
Top 2 Box Net) 92% 92% 89% 95% 95% 90% 93% 89% 90% 91% 92% 93% 91% 92% 91% 92% 89% 90% 94% 95% 89% 91% 93% 92% 88%
5 ABG - - PQ -
1263 593 24 349 126 153 7 320 300 184 335 357 292 823 654 609 2 391 601 182 340 395 301 1165 97
Absolutely certain 60% 59% 55% 63% 68% 59% 62% 58% 63% 61% 61% 56% 52% 62% 62% 58% a8% 56% 1% 68% 58% 57% 61% 60% 55%
5 5 o - L PQ g
664 330 152 178 52 79 35 169 129 93 176 237 27 406 302 362 228 244 192 70 179 237 177 606 57
Fairly certain 2% 3% 34% 32% 28% 31% 31% 31% 27% 31% 32% 37% 39% 30% 29% 30% a1% 35% 2% 26% 31% 3% 32% 3% 3%
- - H [ R R -
175 74 s 30 9 25 6 60 s 2 a2 a7 51 102 % 85 62 67 6 14 61 63 37 154 2
Bottom 2 Box (Net) 8% 7% 10% 5% 5% 10% 6% 1% 9% 9% 8% % % 8% % 8% 1% 10% 5% 5% 10% 9% 7% 8% 2%
c AC - - c R R -
139 59 36 23 6 2 5 6 37 2 2 36 a1 83 7 66 a9 61 29 10 6 52 2 121 19
Not very certain 7% % 8% a% 3% 9% % 8% 8% 8% 6% % 7% 6% 7% 6% % 9% % % 8% 7% 6% 6% 1%
c AC - c - c R R -
36 16 9 7 3 1 1 14 7 2 10 1 10 19 i 19 13 6 7 4 16 1 6 3 3
Not at al certain 2% 2% 2% 1% 2% % 1% 3% 2% % 2% 2% 2% % 2% 2% 2% % 2% % % % 1% % 2%
3 2 2 - - - 1 - 1 - - 1 - 1 3 1 1 1 2 - 1 - 1 3 -
Dot know. - 0 - . . . % . - . B 0 B 0 - 0 - 0 0 . 0 . - - B
3 o 0
1 - - - - - - 1 - - - - - - - 1 - - 1 - - - 1 1 -
Refusal - - - - - - - - - - B - B - B - B - - - B - - - B
2105 999 43 556 186 257 114 549 75 302 553 642 560 1331 1048 1057 562 703 841 266 582 695 557 1929 176
sigma 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100%
Statistics:

Overlap formulae used
- Column Proportions:

Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R S/T/UN, W/X
Minimurn Base: 30 (**), Small Base: 100 (*)

- Column Means:

‘Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R S/T/UN,W/X
Minimurn Base: 30 {**), Small Base: 100 (*)
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6, or heard, would you say that you strongly approve,

Progressive ig Ford, " gly
Total | GTA- Total| GTA-416 | GTA-905 | Central | East North | Southws <S40K | 401 S60K- | $100K+ Female | 1834 | 3554
<$60K | <$100K
A B c ) 3 F G H | ) K L M N o P a R s T
Base: All Respondents (unwtd) 2501 1295 674 621 143 204 132 637 a4 377 660 832 603 1713 1156 1345 501 820 1180 7 3%
Base: Al Respondents (wtd) 2501 1195 527 667 204 209 146 656 587 3% 633 711 667 1586 1205 129 684 861 957 356 692 824 624 2276 225
1377 677 278 399 133 148 79 339 301 231 346 409 3% 818 743 634 357 a64 556 211 403 50 311 1268 109
Top 2 8ox (Net) 5% 57% 53% 60% 65% 50% 54% 52% 51% 59% 5% 58% 59% 53% 62% %% 52% 54% 58% 59% 58% 55% 50% 56% 8%
B BEG - - o - v
359 182 75 107 62 38 15 62 98 58 %0 o1 101 198 22 137 97 8 173 7% 108 102 71 302 18
Strongly approve 14% 15% 14% 16% 30% 13% 10% 10% 17% 15% 14% 13% 15% 12% 18% 1% 1% 10% 18% 21% 16% 12% 1% 15% 8%
s 3 s - . o a . X
1018 495 203 292 72 111 64 276 203 173 256 318 295 651 521 a97 260 375 383 135 295 348 240 927 o1
Somewhat approve: a1% a1% 39% 4% 35% 37% aa% a2% 35% 4% a1% 5% aa% 1% a3% 38% 38% 40% 40% 38% 43% 2% 39% 1% a1%
- B H 0
1081 505 240 265 63 145 59 309 27 156 73 295 254 723 a3 643 316 383 382 130 274 365 308 967 115
Bottom 2 Box (Net] a3% a2% as% 0% 31% 9% a0% a7% a% 0% a3% 2% 38% 6% 36% 50% a6% 5% 40% 37% 40% 0% 49% 2% 51%
A - - c L N - i
97 239 105 135 37 6 21 135 111 6 133 144 132 320 21 276 155 185 157 a9 138 175 134 a31 66
Somewhat disapprove 20% 20% 20% 20% 18% 21% 15% 21% 19% 16% 21% 20% 20% 20% 18% 21% 23% 2% 16% 1% 20% 21% 2% 19% 29%
- B R " B W
584 265 135 130 2 82 37 174 164 %2 140 151 122 399 217 367 161 198 225 82 136 190 173 535 a9
Strongly disapprove 23% 2% 26% 19% 13% 7% 26% 7% 28% 2% 2% 21% 18% 25% 18% 28% 2% 23% 2% 23% 20% 23% 28% 2% 2%
AC - c - c L N - i
39 1 7 a 8 6 7 8 12 7 12 s 16 12 21 18 10 1 18 14 15 6 a 39 -
Don't know % 1% 1% 1% % 2% 5% 1% % 2% % 1% 2% 1% 2% 1% 1% 1% 2% % 2% 1% 1% % -
- ACG* ™ - v
a 2 2 - - - 1 * - 1 1 2 1 2 3 1 1 2 1 - - 3 1 3 1
Refusal - + - " . " % + B + B 0 B 0 B 0 B 0 + " B < + < %
2501 1195 527 667 200 299 146 656 587 394 633 711 667 1586 1205 1296 684 861 957 356 692 820 624 2276 225
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% | 100% 100% | 100% 100% | 100% 100% | 100% 100% | 100% 100% | 100% 100%
Statistics:

Overlap formulae used
- Column Proportions:

Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R S/T/UN, W/X
Minimurn Base: 30 (**), Small Base: 100 (*)

- Column Means:

‘Columns Tested (5%): A/B/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R S/T/UN,W/X
Minimurn Base: 30 {**), Small Base: 100 (*)
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Some people say that the Progressive g Ford has d d job and lected during th be held on June 2nd / Other people say that it is time for another provincial party to take over and run the province after the election on June 2nd. Which of these statements is

closest to your pmm of view?
Tma\ GTA-Total 16 | GTA East North uthwe <$40K $404 $60K $100K+ 18-34
<$60K <$100K

v R s T
Base: All Respondents (unwtd) 2501 | 1295 674 621 143 294 132 637 48 377 660 832 603 1713 1156 1345 501 820 1180 2 3%
Base: Al Respondents (wtd) 2500 | 1195 527 667 204 299 136 656 587 3% 633 m 667 1585 | 1205 129 684 861 957 356 692 824 62 276 25
1067 528 208 320 14 s 58 22 210 188 266 339 282 680 609 58 20 367 80 165 314 35 201 978 89
election 3% 4% 39% 8% 56% 38% 39% 38% 36% 8% 2% 8% 2% 3% 51% 35% 2% 3% 50% 6% 5% 2% 39% 3% 0%
5 ABEG - - H H o 2 PQ - v
1340 625 29 330 B 174 8 376 353 198 302 302 350 871 537 803 a7 a7 a5 164 357 429 366 1208 132
Time for another provincial party to take over 54% 52% 56% 9% 0% 58% 56% 57% 60% 50% 54% 8% 52% 55% as% 62% 65% 52% a7% 6% 52% 55% 59% 53% 59%
A - - c 3 N ar - T
7 % 3 1 8 8 5 B 16 9 23 19 2 2 8 3 1 2 i3 20 18 21 1 70 1
Don'tknow, % 2% 2% 2% % % % % % 2% % % 5% 2% % 2% 2% % % 6% % % 2% % -
- - ™ ° 0
23 15 1 4 - 2 1 4 8 - 2 11 3 10 10 13 3 1 6 6 3 8 5 21 2
Refusal 1% % 2% % - % 1% % 1% - - 2% - % 1% % - 2% 1% % - % 1% % 1%
A = - 0
2501 1195 527 667 204 299 146 656 587 394 633 71 667 1586 | 1205 129 684 861 957 356 692 824 624 2276 25
sigma 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100% | 100%

Statistcs:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/8/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/V,W/X
Minimum Base: 30 (*), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/8/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/V,W/X
Minimum Base: 30 (**), Small Base: 100 (*)
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Which of party leaders doy

_ o
A B c

of Ontario?

Region.

) 3 F G

Household Income
<S40K | 401 S60K- | $100K+
<$60K | <$100K
H | ) K

Age

===
il el N R
N o P

L M a
Base: All Respondents (unwtd) 2501 1295 674 621 143 204 132 637 a4 377 660 832 603 1713 1156 1345 501 820
Base: Al Respondents (wtd) 2501 1195 527 667 204 209 146 656 587 3% 633 711 667 1586 1205 129 684 861 957 356 692 824 624 2276 225

1117 545 217 328 132 115 56 269 222 190 300 327 303 696 646 ann 235 368 515 201 319 346 28 1018 100
PC Leader Doug Ford as% 6% a1% 9% 65% 38% 39% 1% 38% 8% a% 6% as% % 54% 36% 34% 43% 54% 57% 46% 2% 40% a5% 44%

B BEG - . H H o P PQ v v

68 268 136 132 23 6 30 8 108 52 124 150 123 309 202 267 110 159 200 a2 114 153 159 a3 2

Liberal Leader Steven Del Duca 19% 2% 26% 20% 1% 21% 20% 13% 18% 13% 20% 21% 18% 19% 17% 21% 16% 18% 21% 12% 16% 19% 25% 19% 14%
3 ACG 3 - G - | - sTU

718 295 132 163 a3 97 50 234 209 125 165 177 177 a8a 281 a38 291 251 177 91 215 25 167 644 74

NDP Leader Andrea Horwath 29% 25% 25% 2% 21% 32% 34% 36% 36% 32% 26% 25% 27% 30% 23% 30% a3% 29% 18% 26% 31% 30% 27% 28% 33%
- A - ABC K N ar R .

150 68 2 36 7 12 10 53 37 2 36 0 51 7% 59 o1 a1 63 6 17 38 56 38 134 16
Don't know 6% 6% 6% 5% % % 7% 8% % 6% % 6% 8% 5% 5% 7% 6% 7% 5% 5% 5% 7% % 6% 7%

a7 19 10 B - 1 - 16 1 2 8 18 14 2 17 2 7 21 19 a 6 2 12 a3 3
Refusal % 2% % 1% - % - 2% % 1% 1% 2% % 1% 1% 2% 1% 2% 2% 1% % 3% 2% % %

P B ~ T

2501 1195 527 667 200 299 146 656 587 394 633 711 667 1586, 1205 1296 684 861 957 356 692 820 624 2276 225
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% | 100% 100% 100% | 100% 100% | 100% 100% | 100% 100% | 100% 100%
Statistics:

Overlap formulae used
- Column Proportions:

Columns Tested (5%): A/8/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/V,W/X

Minimurm Base: 30 (**), Small Base: 100 (*)

- Column Mear

Columns Tested (5%): A/8/C/D/E/F/G,H/\/J/K,L/M,N/O,P/Q/R,S/T/U/V,W/X

Minimurm Base: 30 {**), Small Base: 100 (*)
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